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CERTIFICATE IN LEATHER GOODS MAKING 
(CLGM) 
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Term-End Examination 

June, 2013 

OLG-001 : PRINCIPLE METHODS, SELECTION OF 
FOOTWEAR AND LEATHER GOODS MAKING - I 

Time : 3 hours 	 Maximum Marks : 100 

Note : First question (question no 1) is compulsory. Answer 
any four questions from the rest. 

1. Write in detail about historical evolution of foot 20 
wear. 

2. Draw a labelled diagram of human foot (top view) 
and describe the function of each group of bones 
in brief. 	 10+10=20  

3. Define "Last" and draw a diagram of a "Last" 
used in the industry showing each part. Describe 
each type of hinge used in a last with their 
advantages and disadvantages. 	5+5+5+5=20 

4. 	What is "Shoe size" and "shoefitting" ? How does 
size and fitting interrelated to each other ? 
Establish the relation between English size and 
fitting. 	 6+8+6=20 
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5. 	Draw a labelled diagram of the following designs : 
(a) Moccassin 	 5x4=20 
(b) Derby 
(c) Brough 
(d) Sling back 

6. Write step by step tanning process starting from 20 
storage of hide till chrome tanning. 

7. Describe different costing methods adopted in 
leather goods making. Explain any two in 
detail. 	 10+10=20 

8. Write short notes on the following : 
(a) Needle 
(b) Sewing threads 
(c) Skiving 
(d) Allowances in leather goods 

5x4=20 

9. Draw a picture of a ladies purse and write down 20 
the sequence of operations for manufacturing the 
same from design to finishing. 

10. Write in detail about the following : 	5x4=20 
(a) String lasting 
(b) Veldtschoen shoe 
(c) Boots 
(d) PU pouring 
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5. ccicaRi;) 	tra 	: 	5x4=20 

(a) ()41<P111.1 
	

(b) Wff 

(c) Cat51- 
	

(d) th`` 
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